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H H H 1 2 3 4 5 6 7 8 9 10 11 12 £
A |H1/3 (m) 3.31 6.14 5.77 3.98 9.86 3.40 3.01 3.97 5.15 7.77 6.75 3.44 9.86
KA R 1
i T1/3 (s) 8.6 9.5 8.6 7.8 14.0 9.6 6.4 11.5 12.6 15. 1 11.0 6.0 14.0
OB (H-FE:4))] 30-18:20] 20— 5:40| 13-20: 0] 25-12: 0| 28-22: 0| 6- 4: 0| 1-18:40| 6-11:20|20-20:40| 7-20: 0| 13- 9: 0| 31- 9: 0 22{22
B B |HMAX (m) 4,67 9.86 9.13 6.80 14. 05 4,82 4,63 6. 56 8.00 12.14 13. 49 5.72 14. 05
it i 95 9 1=
54 TMAX (s) 8.9 9.5 8.9 8.1 13.6 10. 2 6.4 11.8 12.5 16. 1 10. 7 6.5 13.6
H1/3| ¥ % & 1.34 1.50 1.55 1.16 1.68 1.31 1.27 1.59 2.10 1.80 1. 64 1.26 1.52
SEIEE 31 :
(m) | HE %R 2= 0.60 0.83 0.70 0.57 1.42 0. 60 0. 44 0.73 0.85 1.23 0.95 0.55 0.88
- T1/3| & ¥ & 7.8 8.0 7.7 8.1 8.0 6.7 6.6 8.0 9.0 8.6 7.9 6.5 7.7
TR 2= —
(s) | HEHERZ= 2.61 1.23 1.58 1.40 1.69 1. 04 1.27 1.23 1. 44 1.82 1.64 1.41 1.74
oA % (%) 99. 96 99.16 | 100.00 | 100.00 | 100.00 | 100.00 99. 96 99.91 | 100.00 | 100.00 99.63 | 100.00 99. 89
i S R e D 0 P
20094 A BIT-HH # W (3 o ) 10 20094 I = B % B M ER AR (3 g2 8 00) 10 20094 A ) B I ER AR (3 o L)
o TIHA KW S %%1muT 29%% E%4suT om%
T A 2 1 FElm—2m 51.04% HE 4 s —6 s 17.92%
O FHH K LAM 1 W 2m—3m 14.37% 1 M6 s —8 s 37.92%
30 Wi 3m—4m 3.30% 30 I8 s —10s 34.64%
~ WEd4dm—5m 1.03% ~ HH10s —12s  7.26%
= Wmb5mil b 1.03% ® AMMi2s L E 2.26%
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